TRIG INTEGRALS Use sum product fity J sin 4x cos 3x dx $\frac{1}{2} \int \left[\sin \left(4x + 3x \right) + \sin \left(4x - 3x \right) \right] dx$ $\frac{1}{a}\int (\sin 7x + \sin x) dx$ $= \frac{1}{a} \left[-\frac{1}{2} \cos 3x - \cos x \right] + C$ $= -\frac{1}{14}\cos^2 x - \frac{1}{a}\cos x + C$

If one term has an odd power Sin⁵x dx 1) Split off stax or cos & from the odd power. Sm X. Sm X dx 2) Rewrite the remaining term as (Sm2x) Por (cos2x)P $\int (\sin^2 x) \cdot \sin x dx$ 3) Use Sin² X + cos² X = 1 to rewrite squared term. (1- cs2x) sn x dx 4) U-sub, simplify, + integrate $\int (1-u^2)^2 \sin x \cdot \frac{du}{dx}$ $u = \cos X$ du=-SMXdx du = dx -snx $-\int (1-u^2)(+u^2) du$ $-\int (1 - \partial u^2 + u^4) du$ $-\left[u-\frac{au^3}{3}+\frac{u^5}{5}\right]+C$ $-\cos x + \frac{2}{3}\cos x - \frac{1}{5}\cos x + C$

$$\int \sin^{6}(2x) \cos^{3}(2x) dx$$

$$\int \sin^{6}(2x) \cos^{2}(2x) \cdot \frac{\cos(2x)}{2} dx$$

$$\int \sin^{6}(2x) (1 - \sin^{2}(2x) \cdot \cos 2x dx)$$

$$\int (\sin^{6}(2x) - \sin^{8}(2x)) \cos 2x dx$$

$$\int (u^{6} - u^{8}) \cdot \frac{\cos^{2}(2x)}{2} \cdot \frac{du}{2} dx$$

$$\int (u^{6} - u^{8}) \cdot \frac{\cos^{2}(2x)}{2} \cdot \frac{du}{2} dx$$

$$\int (u^{7} - \frac{u^{9}}{9}] + C$$

$$\frac{\sin^{7}(2x)}{19} - \frac{\sin^{9}(2x)}{18} + C$$

 $\cos 2x = 2\cos^2 x - 1$ $\cos 2x = |-2\sin^2 x|$ $1 + \cos^2 x = 2\cos^2 x$ $\frac{1}{2} 2 \sin^2 x = \frac{1}{2} \left(1 - \cos 2x \right)$ $\sin^{2} x = \frac{1}{a} (1 - \cos 2x) \int \frac{1}{a} (1 + \cos 4x) = \cos^{2} 2x$ Both powers even J cos x dx 1) Rewrite all as (sm'x) or (cos'x) $\int (\cos^2 x)^2 dx$ 2) Use double angle identity J L (1+ cos(2x)) dx brewrite swit + cos2x 3) Foil + integrate each $\frac{1}{4}$ (1+ $\omega_s 2x$)(1+ $\omega_s 2x$) dx term separately. U=4x $\int \left(1 + 2\cos(2x) + \cos^2(2x)\right) dx$ $\int \left(1 + 2\cos(2x) + \cos^2(2x)\right) dx$ cos4x dx $\frac{1}{4} \left[\chi + \sin 2\chi + \int \frac{1}{4} \left(1 + \cos \frac{4\chi}{2} \right) d\chi_{\chi} \left\{ \frac{1}{4} \sin 4\chi + C \right\} d\chi_{\chi} \left\{ \frac{1}{4} \sin 4\chi + C \right\}$ $\frac{1}{4}\left[X+\sin \lambda x+\frac{1}{2}x+\frac{1}{2},\frac{1}{4}\sin 4x+c\right]$ $= \frac{1}{4}x + \frac{1}{4}\sin^2 x + \frac{1}{3}x + \frac{1}{32}\sin^2 4x + C$ $= \frac{3}{8} \times + \frac{1}{4} \sin dx + \frac{1}{3a} \sin 4x + C$

$$\frac{12}{5} \int \frac{5}{5} \int \frac{1}{2} x \cos^{3} x \, dx$$

$$\int \frac{1}{4} (1 - \cos^{2} x) \cdot \left[\frac{1}{4} (1 + \cos^{2} x) \right]^{2} \, dx$$

$$\frac{1}{8} \int \left[(1 - \cos^{2} x) \cdot \left[\frac{1}{4} (1 + \cos^{2} x) \right]^{2} \, dx$$

$$\frac{1}{8} \int \left[(1 - \cos^{2} x) (1 + \cos^{2} x) (1 + \cos^{2} x) \right] \, dx$$

$$\frac{1}{8} \int \frac{1}{5} \left[(1 - \cos^{2} (2x)) (1 + \cos^{2} x) \right] \, dx$$

$$\frac{1}{8} \int \frac{5}{5} \int \frac{1}{2} (x - \cos^{2} (2x)) (1 + \cos^{2} x) \, dx$$

$$\frac{1}{8} \int \frac{1}{2} \int (1 - \cos^{2} (2x)) \, dx + \int \frac{1}{5} \int \frac{1}{2} \int (1 - \cos^{2} (2x)) \, dx + \int \frac{1}{5} \int \frac{1}{2} \int (1 - \cos^{2} (2x)) \, dx + \int \frac{1}{5} \int \frac{1}{2} \int \frac{1}{2} \int (1 - \cos^{2} (2x)) \, dx + \int \frac{1}{2} \int \frac{1}{2}$$

$$\frac{\operatorname{TRIG} \operatorname{SUBSTITUTION}}{\operatorname{a}^{2} - x^{2}} \qquad \operatorname{a}^{2} + x^{2}} \qquad \begin{array}{c} x^{2} - a^{2} \\ x = a \sin \theta \end{array} \qquad \begin{array}{c} x = a \tan \theta \end{array} \qquad \begin{array}{c} x^{2} - a^{2} \\ x = a \sin \theta \end{array} \qquad \begin{array}{c} x = a \tan \theta \end{array} \qquad \begin{array}{c} x^{2} - a^{2} \\ x = a \sin \theta \end{array} \qquad \begin{array}{c} x = a \tan \theta \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array}$$
 \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array}
$$\begin{array}{c} x = a \sin \theta \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array}$$
 \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \qquad \begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array}
$$\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array}$$
 \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array} \end{array} \\\begin{array}{c} x = a \sin \theta \end{array} \end{array} \end{array}

$$\int \frac{\cos \theta}{\sin^2 \theta} d\theta \qquad \underset{du = \cos \theta}{\overset{u = \sin \theta}{\partial u} = \cos \theta} d\theta$$

$$\int \frac{\cos \theta}{u^2} \frac{du}{\cos \theta} = \int u^{-2} du = \frac{u^{-1} + c}{-1} = \frac{1}{u} + c$$

$$= \frac{-1}{(1 + c)} = \int \frac{1}{(1 + c)} \frac{1}{(1 + c$$

$$\int \frac{1}{\chi^2 \sqrt{x^2 + 4}} dx \qquad \chi = 2 \tan \theta \\ dx = 2 \sec^2 \theta d\theta \qquad x = -\frac{1}{x + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad dx = 2 \sec^2 \theta d\theta \qquad x = -\frac{1}{x + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 + 4} \qquad \sqrt{2 + 4}$$

$$\int \frac{1}{\sqrt{2 + 4}} \sqrt{x^2 + 4} \qquad \sqrt{2 +$$